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L= B
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
O M - HASH e nSLASUHHY M2
29 90,000, 000& 90,000
WSANES Zdl & &X 300,000 100,000 200,000
401 Al HI K 201 300,000 100,000 200,000
01 A& tI 300,000 100,000 200,000
O WSANEs(8tAIE, WEEZXE S) 84X ¢
g2 300,000,000 300,000
SHUIIANE X & KX 2e 46,000 36,000 10,000
401 AIEHI L 2CHYI 46,000 36,000 10,000
01 A& HI 46,000 36,000 10,000
O SHUIIAIE 4X 10,000,000 *4H 2~ 40,000
O SAUIIANE CM4 U B2 5
400,000& =54 & 2,000
O SHUIIAIE 2AX £X 800, 000& *5H 4,000
AA&EH 018 2435t 27,000 30,000 A 3,000
201 L2l 2,000 2,000 0
01 At 22l 2,000 2,000 0
O XEAoIEE-s g2 2 M
100,000& 100K 1,000
O MENoIEgds ¢t € 222 s A
50& %20, 0000H 1,000
401 Al HIZ 201 8] 25,000 25,000 0
01 A& HI 25,000 25,000 0
O MEAH OlEA4E EX € RANES
25,000,000& 25,000
Helol2Es29 HE ALY 134,000 0 134,000
= 67,000
Al 33,500
T 33,500
401 A& HIZ 201 I 134,000 0 134,000
= 67,000
Al 33,500
T 33,500
01 A& HI 134,000 0 134,000
O MRAFIE HElol2s29 JHA
64,000,000& 64,000
= 32,000
Al 16,000
T 16,000
O MEKRIF HENESTA ML
70,000,000& 70,000
= 35,000
Al 17,500
T 17,500
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SAH-EB .S (3H) - HEAY - BE2 ﬁlf& HD=2
g 21 A= 61,527 59,872 1,655
SH2AF MEHE 20 & 22| 26,985 25,730 1,255
201 LEr2 Y| 26,985 25,730 1,255
01 At 22l Yl 2,525 2,450 75
O MeiE DXAM 70,0003 * 112 A 770
O XMEAIEES XA 70,0003 »38F A 210
O S B8N L JLdZW OtHA
70,0003 *38F A 210
O DXNA =4 17&%30,00021 510
O ZgH EY 275,000& =34 825
02 332494l 24,460 23,280 1,180
O XA 282 1,960& *2,00021 3,920
O HEANNMEXNAN 25 1,960& *3,00021 5,880
O ==& -HELXNAM 8= 300&x15,000H 4,500
O SN B8N 2855 1,960& *1,00021 1,960
O JILIUCHHZ 1XF 85F  300&*4,000H 1,200
O JILADCHHE 2% &2
1,960& *2,50021 4,900
O tigsd+==g 3,500& 6004 2,100
SEE DHE S 2} L el 33,192 31,842 1,350
201 et A | 28,392 28,242 150
01 AFR2 22l Yl 4,720 4,570 150
O ANESYH HE SXNA 70,0003 x10+ A 700
O eiE DXAM 70,0003 *308+ A 2,100
O LDXA ==b| 17&%10,00021 170
O Zegle EY 275,000& =64 1,650
O B dFRH =2 2,000& x50 100
02 5329l 23,672 23,672 0
O Jtegg AN 28 1,960& *2,50021 4,900
O BN &852 1,960& *4,00021 7,840
O BNIDXNAN 852 1,960& *3,00021 5,880
O NMgssd 232 300& x9,000H 2,700
O REg=2d S84 252
1,960& *60021 1,176
O 94XxeE Hel¥dd SAA 5=
1,960& *30021 588
O YXxgygd S84272M 3&  1,9603 %3002 588
202 04| 4,800 3,600 1,200
01 2LHOHI 4,800 3,600 1,200
O SEAMNEIZFTZ SAMES
20,0003 #*4H x5 x 128 4,800
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M DsHE A
¢el: BEHE 20 =+ (9 ® =)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
EX RSE MUz 2 Y 22 1,350 2,300 A 950
201 £B-2d| 1,350 2,300 A 950
01 At 22l 1,350 2,300 A 950
O 0EX MDES S HH 60& *5,0000H 300
O OEX MNIES ESHH M
500& =1,0000H 500
O ZgH ElH 275,000& »2H 550
HE2IZH (nSdHAD) 129,808 89, 188 40,620
JlgZbl(nsdd ) 129,808 89, 188 40,620
=g (nsS8 ) 129,808 89, 188 40,620
201 LBt 30,928 21,148 9,780
01 At 22l 26,880 17,100 9,780
O BA2Y JIZ2+EHl 40,0003 x28H 123 13,440
O BHII2ge48 SAY)
8,000 x28H 54!« 128 13,440
02 =524l 4,048 4,048 0
O S8 HaXY YRITA SEXN2E2
1,960& x1,3004 2,548
O &d&EH Sl 250,000 x63] 1,500
202 o4dl 94,080 63,840 30,240
01 = LH o4 1l 94,080 63,840 30,240
O A& 2ot 20,0003 x28H x143| x 128 94,080
203 YR =2l 4,800 4,200 600
04 FN2IEHSFAH 4,800 4,200 600
O BA2Y RF2H 400,000& 123 4,800




